Run 5013 quartetwise, Asyms0 (Raw): All
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Run §013 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5013 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5013 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5013 quartetwise, Diffs0: All
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Run 5013 quartetwise, Diffs0: Beam ON, Laser ON
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Run 5013 quartetwise, Diffs0: Beam OFF
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Run 5013 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

Enlries 2140486
Mean —2.302a-05%
Sid Daw 0.04901

P T T T T N T T T T N O O N P |

-0.15 -0.1 -0.05 0 0.05 0.1 0.15 0.2
PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD



Run 5013 quartetwise, NegHelAccO/NSamplesQ: All
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Run 5013 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run 5013 quartetwise, NegHselAccl/NSamples0: Beam ON, Laser OFF

quanstwisa baami_lasld nagHD

— Entries 21406
— Mean —4.69
— Std Dev  0.096873
:I T Pl T I T T N T N A 0 O A B O I I

5.1 -5 4.9 —4.8 4.7 4.6 —4.5 —4.4 4.3

MNegHelAccO/MNegHelNSamplesD




Run 5013 quartetwise, PosHelAccO/NSamplesO: All Run 5013 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5013 quartetwise, Sums0: All Run 5013 quartetwise, Sums0: Beam OFF
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